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1. The concentration of iodine ions in cells of seaweeds or kelps can be up to 30,000 times higher
than in seawater. This is due to (A) Diffusion  (B) Facilitated diffusion  (C)
Formation of vesicles (D) Active transport  (E) All of the above

2. Cells that have a nucleus, are colorless, and are surrounded by a chitin-containing cell wall are
(A) Root cells  (B) Fungal cells  (C) Interior stem cells (D) Fruit cells  (E) Flower
cells

3. In onion cells, the diploid number of chromosomes is 16. How many chromosomes are present
in a cell in mid-anaphase? A)4 B8 ()16 (D)32 (E)o4

4. If all of the fruits (seeds) on the outside of a strawberry are removed when it is young, it will
not develop. If the strawberry is sprayed with a hormone solution, normal development
occurs. The hormone most likely to cause a response is (A) Cytokinin  (B)
Gibberellin ~ (C) Ethylene (D) Auxin  (E) Abscisic acid

5. Which of the following would be most likely to develop deficiency symptoms?
(A) A plant growing in a tropical rainforest with associated mycorrhizae
(B) Cacti growing in the desert
(C) A plant growing naturally on serpentine soil
(D) An aquatic plant growing in lake sediments
(E) A crop plant growing in a field that has been cultivated for many years

6. If a leaf is cut off of an African violet plant and placed in water, new roots form at the base of
the petiole. The first root formed this way is (A) Ataproot  (B) Adventitious (C)A
radicle (D) A lateral root  (E) None of the above

7. Carrots and sweet potatoes are roots that have secondary growth. We find these roots easy to
eat because most of that secondary tissue consists of (A) Cork  (B) Phelloderm  (C)
Parenchyma (D) Phloem  (E) Pericycle

8. Coconut milk and meat are the result of one sperm fusing with (A) Polar nuclei  (B) An
antipodal cell ~ (C) A synergid cell (D) A syntipodal cell  (E) An egg

9. Wind pollinated flowers usually are or have (A) Large insize  (B) Zygomorphic  (C)
Complete flowers (D) Bright and colorful ~ (E) Stigmas with a large surface area

10. The main advantage of Kranz anatomy is that
(A) RuBP carboxylase is found only in bundle sheath chloroplasts
(B) RuBP carboxylase is found only in palisade parenchyma chloroplasts
(C) RuBP carboxylase is found only in spongy mesophyll chloroplasts
(D) RuBP carboxylase is found only in mesophyll chloroplasts
(E) PEP carboxylase is found only in bundle sheath chloroplasts

11. Just after the sun rises, the initial event that leads to the opening of stomatal pores is
(A) The diffusion of water into guard cells from adjacent cells
(B) The diffusion of water out of guard cells into adjacent cells
(C) The synthesis of glucose, lowering the water potential in the guard cells
(D) The diffusion of K into guard cells from adjacent cells, lowering the water potential
(E) The active transport of K" into guard cells from adjacent cells, lowering the water
potential
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12. From an energy-conservation standpoint, the most favorable form of nitrogen for a plant is
(A)NO;~  (B)NO;  (C)NH," (D)N, (E)All are equally favorable

13. If you know in advance that a field will be temporarily flooded, an application of what
hormone might help the plants survive? (A) Abscisicacid  (B) Ethylene  (C) Auxin
(D) Cytokinin  (E) Gibberellin

14. If a normal body cell of a plant contains 5 picograms of DNA, then that cell at the end of
prophase of mitosis contains (A) 2.5 picograms  (B) 5 picograms  (C) 10
picograms (D) 15 picograms  (E) 20 picograms

15. Pericycle cells are
(A) Parenchyma cells that control mineral absorption
(B) Parenchyma cells that divide to form lateral roots
(C) Fibers that give support
(D) Endodermal cells that control mineral absorption
(E)aand b
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1. symplast and apoplast
2. major elements and trace elements
3. prop roots and contractile roots
4. angiosperm and gymnosperm

5. genetic engineering of plants and tissue culture of plants
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